TR BTAT fa
LR ETREAERERBR
REES BUEREDZIR BEHRE A(B+C)
3,631.146
e
Ao
3,311.000 320. 146 0. 000
i jmEy o g +
Bn || weEmEoRE | G BBR o | e b F——
1 N o R 79. 000 BFERZER) E
2 L T kU¥ 18.000 3,311.000
3 # oE XL 167. 000 I
4 | o)l k>3F 7. 000 B FDFREH
, RERESD)
5 =% M ot 2.000 B(D+E)
6 #* A UAF 6.000 3,311.000
7 OB AT 3.043
8 H K EULEM 0. 000
9 X B Z0A 0. 000
10 MIE kBT 0. 000
11 % K IOVB 0. 000
12 B F B = 2.000
13 o HRT 11.000
14 ol OXOT 0. 000
15 5 B 2Tz 7.000
16 oAk HE A 3.000
17 ¥O¥Y H = 1.000
18 % B 3T 2.000
19 L B ADY 12.103




B B
> +
EHAREZERZERR
EHES ESEFDRIR "EBE A(B+C)
6,927.333
o 4 ‘ s e o FERMEBEAD
2 HREFOEEME | BEEHEDB/RHEH P ARG
2 HAHEHT D% (FEREas) B | C(C OAh BEORR
D(D 0)|:|I:I-|-)
6, 468. 000 459.333 0. 000
B | B5E . SR BEREHE +
= Ju %ﬁﬁﬁ%o)ﬁ% =i, ’ TUEE y
1 »oE ERT 107. 000 (RrEnelR<) E
2 L 1§ 36. 000 6, 468. 000
3 PuI’E W X 12.000 I
4 W o TeX 16. 000 BESF OISR
— : (BERESD)
5 FHIA IR 1.000 B(D+E)
6 B OH H<a 32.333 6, 468. 000
( wmoE  TAbhX 10. 000
8 A ®/OB K 22.000
9 B ¥ 45.000
10 MR kD% 0. 000
11 R 0508 31.000
12 HPXD I 8.000
13 ol Ledxw 139. 000




TRETNE | WEH
AR ERREERR
BHES BUEZDEFT BE=BH A(B+C)
158. 000
e i 2 BEREREAD
S BREDBERY | SESHEDEERN T
: R (BERESD) B | | C(C Oas) g
D(D 0)|:|I:I-|-)
117.000 41.000 0. 000
B | HE . 15y RERHERE +
= Ju %ﬁﬁﬁ%o)ﬁ% =i, ’ TUEE y
I X B ol 37.000 (RERERR<) E
2 B oA HEC 4.000 117. 000
Il
BREDERRH
BERZESD)
B(D+E)
117.000




PRETAE|
LR ETREAERERBR
RILES BREDEH B=@H A(B+C)
1,751.000
| mmeiemmn | | EEREGEAND
s HR‘%‘_:FUM%‘?TT: vﬁ‘éﬁ %%ﬁﬁ%axﬁﬁv vﬁ‘éﬁ U 3 =
AR (BERESD) B | | C(C Oas) g
D(D 0)|:|I:I-|-)
1, 066. 000 685. 000 0.000
=0 | N m=gy e +
= LHBREDRS - : S
s | B EBEIR<) C' | AOREH D E———
1 5 OB M 85. 000 (RrEfziR<) E
2 B K & 62. 000 1, 066. 000
3 MR VI YO 4,000 I
4 i & B 5B 534.000 B EDPER
: BEREDD)
B(D+E)

1,066. 000




HRETAE |
EARNEKRAEARRR
BLES BEEDEH BB A(B+C)
3,828.016
ey
(=]
3,291.924 536. 092 0. 000
= (mEmy o +
5|8 | BREREORE | welZ20) | ADmes o F——
1 )l K R 28. 000 (HERER) E
] prom s 0. 000 3,291.924
3] xm m ¥ 1.000 I
4 N ORIV 86. 000 E%E%@irfgi
5 MmoE R 1,000 BD+E)
IEEEE: 19. 000 3,291.924
11 g xxc 37.393
8 [k ® E & 5. 095
of | ow v 31.000
NEEEREE: 2.000
| jmm o ¥ 3.000
NEEEEEEE 1. 000
13 5 LA<A 34. 000
4 ks m oz 1.000
sl r R OB ¥ 1. 000
T 6. 000
ul  larer w — 5. 000
8 & woc 21. 000
19 TR 59. 000
NEEIEED 58. 000
1] |naiz> 135. 604
2 |ga ma 1.000




HRETRE | mEd
A -+
L B T HE R
BHES BUEZDEH B=4M A(B+C)
5, 145. 745
: - BrsoaEes | assnsosmey | | WERERIAO
> (enEad) B C(C’ mast) ERg Sl
D(D 0)|:|I:I-|-)
4, 664. 000 481,745 0.000
20 | N mm SRR E +
&S| | DEERAEORE | geptied) | AOBRER D T
BREDSREH
1 HrEL D3 L 135. 745 (RFrefraiR<) E
2 HAES 74. 000 4, 664. 000
3 & K % o4 36. 000 i
4 B K APE 143.000 BUEFDIGRAH
EERERD)
5| il fa—ep 4.000 B DIE)
6 % #m W K 11.000 4, 664. 000
7 T 9.000
8 = ® 2705 6. 000
9 o % 45. 000
10 M 18.000




PREHE |
EHREHRERBER
BLES BREDEH BEHH AB+C)
4, 007. 840
—
(=1
3,224.075 783. 765 0. 000
- jmEy o +
5|8 | BREREORE | welZ20) | ADmes o T
| R v E @ 46. 254 (FERZER<S) E
| |pozx 8 % 6. 000 3, 224. 075
3| |wxxx #/o® 148. 000 I
4  #® o8 137. 956 BESF OISR
~ - (RERERD)
5 PN wyZ 14.000 B(D+E)
6| |x® 03T 8. 000 3, 224.075
1 |8 o 2wz 10. 000
Y 4.000
o] [ v wsy 13.000
0] JErk ELed 64.315
| A% x % 28.000
DEEEEECEE 5. 000
N 97. 000
T 102. 000
5] [P P # K 63. 000
16 | LaC 2.000
7 ' A el 2.000
1) [EmE Abd 5. 000
19 | @ =Fvea 28.240




TRETNE | WEH
> +
AR ERREERR
BHES BUEZDEFT BE=BH A(B+C)
426. 000
' DN BESORRMY | RsRE0Rmmy | | TR A0
(BFEMEST) B C(C’ m&sEh (D e
D(D 0)|:|I:I-|-)
351.000 75. 000 0. 000
2 | g . 15y BERERE +
= Ju %ﬁﬁﬁ%o)ﬁ% =i, ’ TUEE y
I % B h0A 69. 000 (RERERR<) E
2 B Xl 5. 000 351. 000
3 B OH AVESD 1.000 I

R EDSFEHE
FERZEIV)
B(D+E)

351. 000




BT % P
L Bl X R ZE R
BHES DR BEwH A(B+C)
185. 000
e T e S, BERHEREAD
o HEZENEZHE | eEEHE0E=0 AL
9 AAHHR (sEhEaD) B | C(C OB BERBOOE
D(D 0)|:|I:I-|-)
80. 000 105. 000 0. 000
By | e s BEH BERREE +
= LEEHEDKSR - : AL
g2 | # (EERER<) C ADBESH D .
| % B rldbX 103. 000 (EfElR<) E
2 A OE T 2.000 80. 000

R EDSFEHE
FERZEIV)
B(D+E)

80. 000




XA B
> -
Lkl KR AR KR
REES HBEEFED R BERHK A(B+C)
460. 666
e T 2 A ‘ v g A FIERMEMENAD
A HR_;‘_:FUM%‘?TT: vﬁ‘éﬁ %%ﬁﬁ%axﬁﬁv vﬁ‘éﬁ T T 3 =
10 HRRER (BEREat) B | | C(C OBe BEBORE
mm S}
357. 000 103. 666 0. 000
BB | BE . 5=% RERHRRE +
= Ju %ﬁﬁﬁ%o)ﬁ% =i, ’ TUEE y
1 X ®HC 20. 000 (RERERR<) E
2 SYy—I & # 64. 666 357. 000
3 M o F R 5. 000 I
4 W o 0AL 11.000 B ZEDSEHE
: \\ (BERESD)
5 i E LB 3.000 B(D+E)

357. 000




HREAG | mEE
L Bl K =B EBER
BHES BUREDBIN BEHRE A(B+C)
2, 748.904
e A ¢ s S T 7 A FERBEmEAD
N HREDSEMRE | BESHBDEERI i =
! DA (BERESD) B | | C(C OAF SO
D(D 0)|:|I:I-|-)
2,529. 000 219. 904 3.000
I | K S T BRI +
= Ju %ﬁﬁﬁ%o)ﬁ% =i, ’ TUEE y
1| s B # 3.000] | (RERZERRS) E
) A H % F 101. 904 2,526. 000
3 B OE Sk 14. 000 [
4 B w ADS 1..000 E%E%@gfg?&
5| it & 503 16. 000 B(DIE)
6 T 7.000 2,529. 000
7 woOR Mm% 2.000
8 = |\ = 10. 000
9 oG B 11. 000
10 BBl Huo 25. 000
11 B A B 12.000
12 YA Ly ROLT 20. 000




TRETNE | A
K &xEERBR
BLES BS D& BEWE A(B+C)
18. 000
o i Ty BERIEREAD
BHEOEZRE | SESHEDEERK A
12 AR (sEhEaD) B | C(C OB BERBOOE
D(D 0)|:|I:I-|-)
12.000 6. 000 0. 000
293 | B . sy BERERE +
2 ZESWEDEA = , e,
BS | # (BERZER<) C NOBEH D .
I <o¥p  ® W 6. 000 (RERERR<) E

12.000

R EDSFEHE
FERZEIV)
B(D+E)

12.000




HROHE| e
EHARERAERBR
BHES | ERBOEN BERE AB1C)
1,722. 655
e
(=1
5,950. 000 1, 772. 655 2.000
- [y - +
5|8 | BREREORE | welZ20) | ADmes o F——
| = v = 1.000] | (BERZERS) E
2 2 o sF 1.000 5,948. 000
3 mx 45.000 I
5 #l g0 65. 000 B(D+E)
6 ZEIE - 89.000 5,950. 000
7 A B  EIVA 36. 000
8 WAED 149. 000
9 NEPDH 29.000
10 05D 57.606
11 JAEH 118. 000
12 OB OEIPI 20. 239
13 B OOY X 13.155
14 % FI0X 71.000
15 m ® BT 61.000
16 LiFe ES IS 57.000
17 ¥ B & & 50. 000
18 Wk =B 37.000
19 H F  FIU 47.000
20 + H TJa4v¥a 17. 404
21 B H R 25.595
22 E EBE 7ML 30. 000
23 B K H 54.000
24 O W DA 63.000
25 R B OT¥ 54.000
26 SUk 2 6. 000
21 X H ST 43.000
28 AP LIE 20.000
29 =S -3 235.000
30 (TE = N N - 194. 656
31 M E FXE 71.000




TXEH & &R
> +
LR ETREAERERBR
BEES B EDRFR BERE AB+C)
258. 000
[T o s b T/ T A FEMERENAD
. Bl DS ERE BESEHEDSERE TUEE S Ty NS
14 BEOM (BEREat) B | | C(C OBe BEBORE
mm S}
230. 000 28.000 0.000
R | HE N (ks HERMERME +
= Ju %ﬁﬁﬁ%o)ﬁ% =i, ’ TUEE y

1 560 U A 17.000 (RrEfziR<) E

2 X A Iven 0.000 230. 000

3 & H Xkok 0.000 I

4 KX B OB 2.000 HREDESEHRE

S (FERZEFD)

5 S = S = A 1 1.000 B(D+E)

6 VN ¥ 0.000 230. 000

7 ViS4 b i) 0.000

8 = H 7=ne 0.000

9 W 135 = 8.000




PREHE|  mEd
K &xEERBR
RLES BHEDBIT E=@s A(B+C)
3,512. 684
s R EEsOERMe | esnaosiey | | PERERTAO
(FERZEET) B C(C’ n&&h) D(D’ DAt
1, 636. 000 1, 876. 684 0.000
- [y o +
Bn || weEmEoRE | G BBR o | e b T
1 ek  EX3H 32. 684 (HERER) E
L 6.000 1, 636. 000
| & 2 ocs 4,000 i
4 oMY & & 1,767. 000 %E%@E%ﬁ?
5 B OE ATH 23.000 BD+E)
| |[ppo = @ 8.000 1, 636. 000
| |8 m ossx 4,000
| @ % om 4,000
o] |m & = 4,000
o o = o7 0.000
n ks & = 1.000
o rm w7 8.000
B e E A 3,000
R 0.000
EEEECE 1.000
6 ms E x 1.000
n W m E o 10.000




XA e
‘ +
K &xEERBR
BHES BHZDEFT /=G A(B+C)
385. 000
6 NHK BESORRMY | RsRE0Rmmy | | TR A0
(BERESD) B C(C’m&sh (D e
D(D 0)|:|I:I-|-)
195. 000 190. 000 0. 000
218 | N gz BERE S +
= Ju %ﬁﬁﬁ%o)ﬁ% =i, ’ TUEE y
1 ® B OB 181. 000 (RrEfziR<) E
2 B/ K oR 4.000 195. 000
3 il B R0 5.000 I
BEEDEB=RE
ERZESD)
B(D+E)

195. 000




2 BOUERENRDHBHEIC

. TBHEEDEEREIM. (&

EE

BHEDRBERBUM

BOT#5 OB, G188 TAE8(B) M NMNEATEIMETHRET S 2L, D

BRBAMUTZYVIETS

o)

3 REEGRBUL, MEFADKERR (HHIRK) ORFEEHL —HTLI L 2R

DE, HETDHI L,

HHE 9 %
ST EBRT SEBEREHANRFEHREES
) == m m M [===)
EEBRIRAZESE T RIRE 2

XA 4 BT

mERH B E D EERE R D AT DK, G0 T - AROEESCE

(A) (EEREAD) (EERER<) (B) N
41, 165. 989 33,481.999 7,683. 990 0.011 0

B R B Bl 2ol BEE
(D) [(A)+(B)+(Q)] (E) (F) [(D)+(E)] (@) [(F)+(Q)]

41, 166 1081 42,247 | 42, 248

(B) 1 BNTaBEIRVE S, (0] (¥H) ¥ UTHRETH L,




